ERFBIHIEKERRISE
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DGX ¢ 250, 200,

150, HIVP ¢ 150 &#f (K%

W X K O K

£ Btk OB wr
[&#4]
AU BAVEERE i B
HE GXIE ST ¢ 250 10 + 3 13 i
B AR B Y
HE GXIE ST $ 200 1+ 3 4 i
AWOKRTTE  WEA KEZ A
(DCIPAH-»VT () | 6 300X ¢ 250 1 1 e
GXTEMIZY 7 b=t % $ 200 2 2 H
FCDALFRLALE] A ¢ 200 1 1 e
R $200 ENCTN
HORRyZA(F1E) | JWWA B 132 I H 35 AT + 1 1 e
EiEIN
G HRY 2 A (ME145) PR25 (K) I H 3 & + 2 2 (eS|
RRE
HEIFRRY 72 (B RA25 (A) A 3 5 T + 1 1 1i#
TEREE
Ry 7 A (ME145) RC25(C) I H 3t A + 1 1 i
JEERR
I FRY 2 A (ME145) RS25 (S) I H 315 i + 1 1 1=
Ao EAVEERE
ZRTEE GXE $ 200X ¢ 200 2 2 1=
Ay BA VR
ZRTEE GXE $ 200X ¢ 150 1 1 1=
Ao BA VR
HLZA%E GXIE ¢250X ¢ 200 1 1 1i#
B AR 90°
& GXIE ¢ 200 3 3 (eS|
B AR 45°
i GXIE Ji%% ¢ 250 1 1 1#
B BA NV EEERE 22° 1/2
i GXIE M5z ¢ 250 1 1 1
B BA NV EEERE 22° 1/2
i GXIE Ji%% ¢ 250 1 1 1#
B AR 11° 1/4
& GXIE ¢ 250 5 5 (eS|
Ay EA VR
Hkiln GXIE $ 200 1 1 1i#
Ao BAIVEERE
&S GXIE $ 200 2 2 1A
By BA VR
F4F GXIE ¢ 250 6 6 1#
By BA VG
747 GXIE ¢ 200 4 4 1
By BA VR
G-LinkEvhk ¢ 250 3 3 eS|
By BA VR
G-Linktvhk $ 200 10 10 1
By BA VR
BEATE GXHE ¢ 250 6 6 1
B BA NG
BEAEH G 200 6 6 1
By BANEERE
B GXIE ¢ 150 1 1 1
202 A LR {HifE &+ 30mm
i AT &5 200 1 1 i
By BAIVERE KJE 3DkN
TR ¢ 250 1 1 i
AfE R S5 L A<F
VSVaAfr b ¢ 150 1 1 L]
BRI~ — 71— 11 11 1
TIVE LA DGX$250 DGX$200 DGX ¢ 150 VP ¢ 150
EHRT—T 150mm 67.28 + 22.96 + 0.85 + 0.40 915 | m




DGX ¢ 250, 200, 150,

HIVP ¢ 150 FH#E(ARE

s X K O K

4 Fr b5ikia ¥ B
[7#]
EN:VN
e AR 1 $ 250 67.72 - 0.44 67.3 m
ARCIE SIS
REE AR L $ 200 24.41 - 0.52 - 0.93 23.0 m
[EAE - X I
GXTEAET L. ¢ 250 0 + 3 13 m]
[EAE - [ I
GXTEAET L. ¢ 200 1+ 3 4 5]
BOEE @E | 450 A 22 w220 % 11° G-Link
GXTAkF T $ 250 1 + 2 + 1 + 5 - 3 6 =]
WA @ H5 22005200 TUE200%150  HFLE2504200 90° ey fstal G-Link Uik
GXTEAET L. $ 200 4 + 4 + 1 + 1 + 3 + 2 2 - 10 1 6 u]
HIPE - G-Link
GXTEAMET L. ¢ 250 3 3 5]
HIBE - G-Link
GXTEAET L. ¢ 200 10 10 5]
INZET S
AH=HNVHTFT | 3DKN ¢ 250 1 1 5]
EREET
RS T ¢ 300X ¢ 250 1 1 &7
EaEte
U FpakiE T ¢ 200 3 3 [EE
77V T T ¢ 200 1 1 i
B RY—PT 91.5 91.5 m
HYZFLL AY— 7 BT ¢ 250 67.3 67.3 m
RYLFLL AY—7 BT ¢ 200 23.0 23.0 m
FREE BT T ¢ 250 3 3 H
e I T ¢ 200 7 7 0
PR B BER T Z150%150
GXTEAF TR T ¢ 150 1 1 5]
HEHTS
FeRE R LT ¢ 150 0.68 0.7 m
FFRI ZZ200%150
e AR 1 ¢ 150 0.68 + 0.17 0.9 m
ﬂﬁg%‘ | 2005150
GXTEAMET L. ¢ 150 1 1 5]
RYEF LAY —T T ¢ 150 0.9 0.9 m
ER
v =V T ¢ 150 1 1 m
Vo VSRR T ¢ 150 0.40 0.4 m
|y = i . ¢ 150 0.40 0.4 m
BEARS (EAT | vsvarb
B = LERRIE T L ¢ 150 2 2 m]
= E = R
AIT T [ A $250 38.71 X 1.20 + ¢200 31.17 X 2.70 130.6 | kg
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BX

REME EM, FHER)

W X K O E

E ) Hirg ¥ B s
[&#]
B Y LA VR KJE
AJ=J1 V18 ¢ 200 1 1 H
i 55
R AL 6200 1 I &
P BN B R
@Ry 72 (MK1E) | JWWA B 132 1 1 17
YT
B Ry 72 (MB245) PR25 (K) 2 2 1
EREE
O Ry 72 (B3 5) RA25(A) 1 1 2(ES|
RRE
O Ry 72 (FB4A5) RC25(C) 1 1 eS|
JEERR
B Ry 72 (MB55) RS25(S) 1 1 1
[5%]
PRERAE I L ¢ 200 21.70  + 40.20 61.9 | m
BEERE L T ¢ 150 12.40 + 8.50 209 | m
H=9001
Rt ARy s A% FRHTD 3 3 T
770V RSN L ¢ 150 2 2 n
61.9/5
BhERAE Dk L ¢ 200 13 13 u]
20.9/6
BRERAE D)k 1T ¢ 150 4 4 5]
K Re 2k i
AN=H AT T ¢ 200 1 1 5]
M Bt
ANWrKAE) IR ER B T $ 200 1 1 m
(R HER f HE £
RIF T $AI T T $200  31.17 X 61.90 + $150  23.73 X 20.90 2425.4 | kg
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+ T % & %

+Ta47° 1-1 FOEHE As (N1-3) DCIP(GX) ¢ 250 DP=0.90m
+ Tt & L= 8.2 +9.7 = 17.9 m
W P>
BXE%As t=bcm 1EHl | BR REIH BAEFHAs t=5cm
B — —F>
3 N % 3
EJ:EEM%J S
L M=30 -
:TE%%J S
i_RC-40 —
i W | #mEIfE|  0.650
a i DI [E4ME[ 0.272
= £ ° IR 1ERM — DP_| £ | 0.900
; RC-40 < H1 | HREIE 1172
i H2 | #RAE| 1.122
BB hl | HEEA| 0.330
iz—F ) h [w & 0572
f o
| o
Bl —
| 5, <
—
i Ov 4

N

( 17.9 m Y70¥eE)

4 g iR NI MR g = 2V B % &

ERAL T T As, t=15cmPA T 2.00 X 17.9 m 35.8
SRR ERUERGA T As, t=10emBLF 0.65 X 17.9 m? 11.6

B RImEI T Rt WYE 1+ 0.65 X 1.122 X 17.9 m® 13.1

BB T RC-40 0.65 X 0330 X 17.9 m® 3.8

B T i as i

AR T T w ( 0.65 X 0572 — 0272 2 X x,/4)X 17.9 m’ 5.6

WEER R R

FEAE S YE 13.10 — 0.00 = 0.9 m® 13.1
7 A7 7L ML As 0.65 X 0.05 X 17.9 m® 0.6
HEFBERA T AN B As m® 0.6
TG URIENE - 25> T 0.023 X 0.05 X 35.8 m® 0.04

TEKET RC-40, t=12cm 0.65 X 17.9 m? 11.6

HEgET M-30, t=10cm 0.65 X 17.9 m? 11.6

HAERIEAs(13)
FEUREIH) t=5cm 0.65 X 17.9 m? 11.6




+ T % & %

+TH47° 1-2 FOEHE As (N1-3) DCIP(GX) ¢ 250 DP=0.80m
+ TR L= 6.3 = 6.3 m
W P>
BXE%As t=bcm EH | BRE RIEIR BAEZFHIAs t=bcm
- —t
3 N v 3
i A
i BREET I
| RC-40 N
i Y
i W | #EHIfE[  0.650
a i DI [E4ME[ 0.272
= £ e IR 1ERM — DP_ | 40| 0.800
; RC-40 < H1 [#mizE] 1.072
i H2 | #RAE| 1.022
LS hl |G| 0.230
iz—t ) h |#® &] 0572
I o
i S
| —
1 | <
—
i Ov 4
!
\ @D
( 6.3 m %H7=viE)
4 g iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 6.3 m 12.6
SRR ERUERGA T As, t=10emBLF 0.65 X 6.3 m? 4.1
AR T etk RYEL T 0.65 X 1.022 X 6.3 m® 4.2
AR T RC-40 0.65 X 0230 X 6.3 m® 0.9
B T i as i
AR T T w ( 0.65 X 0572 — 02722 X xn,/4)X 6.3 m’ 2.0
WEER R R
T R YE 420 — 0.00 + 0.9 m® 4.2
T AT 7 )L hLALE As 0.65 X 0.05 X 6.3 m® 0.2
HEFBERA T AN B As m® 0.2
TG URIENE - 25> T 0.023 X 0.05 X 12.6 m® 0.01
TEKET RC-40, t=12cm 0.65 X 6.3 m? 4.1
HEgET M-30, t=10cm 0.65 X 6.3 m? 4.1
HAERIEAs(13)
FIEURIEIR) t=5cm 0.65 X 6.3 m? 4.1
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+ T % & %

+Ta47° 2-1 BIEHE As DCIP(GX) ¢ 250 DP=0.90m
+ TR L= 2.0 = 2.0 m
W P>
BEE%As t=3cm 1EHl | BR RIEIR BAEZFHIAs t=bcm
- —t
S N % 3
T t
! RC-40 =
|
; A
i W | #EHIfE[  0.650
a i DI [E4ME[ 0.272
= 2 ° IR 1ERM — DP_ | 140 | 0.900
i RC-40 < H1 [#mieE] 1172
i H2 | #RATE| 1.142
BB hl | HEEA| 0.470
iz—t V h [w & 0572
I o
i S
Bl —A
1 5| <
—
i Ov 4
!
\ @D
( 2.0 m %7=v¥E)
4 g iR NI MR g B =V B % &
ERAL T T As, t=15cmPA T 2.00 X 2.0 m 4.0
SRR ERUERGA T As, t=10emBLF 0.65 X 2.0 m? 1.3
AR T etk RYEL T 0.65 X 1.142 X 2.0 m® 1.5
AR T RC-40 0.65 X 0470 X 2.0 m® 0.6
B T i as i
AR T T w ( 0.65 X 0572 — 02722 X xn,/4)X 2.0 m® 0.6
WEER R R
FAE IEI YE .50 — 0.00 = 0.9 m® 1.5
T AT 7 )L hLALE As 0.65 X 0.03 X 2.0 m® 0.04
HEFBERA T AN B As m® 0.04
TG URIENE - 25> T 0.023 X 0.03 X 4.0 m®| 0.003
A T RC-40, t=8cm 0.65 X 2.0 m? 1.3
AR AS(13)
FIEURIEIR) t=5cm 0.65 X 2.0 m? 1.3
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+ T % & %

+Ta47° 2-2 BIEHE As DCIP(GX) ¢ 200 DP=0.90m
+ TR L= 1.7 = 1.7 m
W P>
BEE%As t=3cm 1EHl | BR RIEIR BAEZFHIAs t=bcm
- —t
S N % 3
BT 1
| RC-40 8
|
i A
i W | #EEIfE[  0.600
a i D1 [#E4M%[ 0.220
= 2 ° IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#mieE] 1.120
i H2 | #EAE|  1.090
LS hl  |#5EH| 0.470
iz—t V h [ #w & 0520
I o
i S
Bl —A
1 5| <
—
i Ov 4
!
\L
( 1.7 m H47=0%E)
4 g iR NI MR g B =V B % &
ERAL T T As, t=15cmPA T 2.00 X 1.7 m 3.4
SRR ERUERGA T As, t=10emBLF 0.60 X 1.7 m? 1.0
AR T etk RYEL T 0.60 X 1.090 X 1.7 m® 1.1
AR T RC-40 0.60 X 0470 X 1.7 m® 0.5
B T i as i
AR T T W ( 0.60 X 0520 — 0220 2 X x,/4)X 1.7 m® 0.5
WEER R R
FAE IEI YE .10 — 0.00 =+ 0.9 m® 1.1
T AT 7 )L hLALE As 0.60 X 0.03 X 1.7 m® 0.03
HEFBERA T AN B As m® 0.03
TG URIENE - 25> T 0.023 X 0.03 X 3.4 m®| 0.002
A T RC-40, t=8cm 0.60 X 1.7 m? 1.0
AR AS(13)
FIEURIEIR) t=5cm 0.60 X 1.7 m? 1.0
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+ T % & %

+T 47 3-1 EIEEIE As (N1-3) DCIP(GX) ¢ 200, #4 ¢ 150 DP=0.90m
+ TR L= 9.1 = 9.1 m
W P>
BXE%As t=bcm 1EHl | BR RIEIR BAEZFHIAs t=bcm
— %
3 N % 3
EiEﬂ%ﬂ&‘J S
L M-30 -
:TE%%J S
i RC-40 -
i W | #EEIfE[  0.600
a i #arE| DL |l 0.220
= £ e IR 1ERM — s D2 B 0.169
; RC-40 < DP [ +# ] 0.900
i H1 | #EAIZE] 1.120
HLES H2 | fiEHlE| 1.070
iz—t ) hl  |##544] 0.330
i 8 h | # & 0.520
~ B —
(D 5, =
; —
/\: Ov v
VAR
BWEE D2 i E 6 D1
( 9.1 m %7=v¥E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 9.1 m 18.2
SRR ERUERGA T As, t=10emBLF 0.60 X 9.1 m? 5.5
ERIRE T Kb e+ ( 060 X 1.070 — 0.169 2 X x,/4)X 9.1 m® 5.6
RN T RC-40 0.60 X 0330 X 9.1 m® 1.8
EIHR T i as i
AR T W ( 0.60 X 0520 — 02202 X x,/4)x 9.1 m’ 2.5
WEER R R
FEAE S wWE+ 560 — 0.00 =+ 0.9 m® 5.6
T AT 7 )L hLALE As 0.60 X 0.05 X 9.1 m® 0.3
HEFBERA T AN B As m® 0.3
TG URIENE - 25> T 0.023 X 0.05 X 18.2 m® 0.02
TEKET RC-40, t=12cm 0.60 X 9.1 m? 5.5
HEgET M-30, t=10cm 0.60 X 9.1 m? 5.5
HAERIEAs(13)
KB H) t=5cm 0.60 X 9.1 m? 5.5
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+ T % & %

+T 47 3-2 EIEEIE As (N1-3) DCIP(GX) ¢ 150, # ¢ 150 DP=0.90m
+ TR L= 1.1 = 1.1 m
W P>
BXE%As t=bcm 1EHl | BR RIEIR BAEZFHIAs t=bcm
— %
3 N v 3
EiEﬂ%ﬂ&‘J S
L M-30 -
:TE%%J S
i RC-40 -
i W | #EEIfE[  0.600
a i #arE| DL |l 0.169
= £ e IR 1ERM — s D2 B 0.169
; RC-40 < DP [ +# ] 0.900
i H1 | #EAIZE] 1.069
HLES H2 | fiEilE) 1.019
iv—h 3 hl  [#EE#]| 0.330
i 8 h | # & 0.469
~ B —
(D 5, =
; —
/\: Ov v
VAR
BWEE D2 i E 6 D1
( 1.1 m 47=0%E)
4 b ViR N MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 1.1 m 2.9
SRR ERUERGA T As, t=10emBLF 0.60 X 1.1 m? 0.7
ERIRE T Kb e+ ( 060 X 1.019 — 0.169 2 X x,/4)x 1.1 m® 0.6
RN T RC-40 0.60 X 0330 X 1.1 m® 0.2
EIHR T i as i
AR T w ( 0.60 X 0469 — 0.169 2 X x,/4)X L1 m’ 0.3
WEER R R
FAE IEI YE 0.60 — 0.00 <+ 0.9 m® 0.6
T AT 7 )L hLALE As 0.60 X 0.05 X 1.1 m® 0.03
HEFBERA T AN B As m® 0.03
TG URIENE - 25> T 0.023 X 0.05 X 22 m®| 0.003
TEKET RC-40, t=12cm 0.60 X 1.1 m? 0.7
HEgET M-30, t=10cm 0.60 X 1.1 m? 0.7
HAERIEAs(13)
KB H) t=5cm 0.60 X 1.1 m? 0.7
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+ T % & %

+T 47 4-1 BSEHRE As DCIP(GX) ¢ 250, 25 ¢ 200 DP=0.90m
+ TR L= 415 = 415 m
W P>
BEE%As t=3cm 1EHl | BR
E— —t
S N
| praET I
| RC-40 8
! y
i A
i W | #EHIfE[  0.650
a i #arE| DL sl 0.272
= £ ° IR 1ERM — s D2 B 0.220
; RC-40 < DP | +#9 | 0.900
i H1 | #RAIE| 1.172
HLES H2 | fEHIE) 1.142
iz—t V hl  |#5E44]  0.470
i 8 h | # &| 0.572
~ B —
(D 5, =
y
i A
/\i Ov 4
VAR
BWEE D2 FERE o DI
( 41.5 m H7=0#E)
4 g iR NI MR g B =V B % &
ERAL T T As, t=15cmPA T 2.00 X 41.5 m 83.0
SRR ERUERGA T As, t=10emBLF 0.65 X 41.5 m? 27.0
ERIRE T Kb e+ (065 X 1.142 — 0.220 2 X 7,/4)X 41.5 m® 29.2
AT T RC-40 0.65 X 0.470 X 415 m® 12.7
EIHR T i as i
AR T T w ( 0.65 X 0572 — 0272 2 X x,/4)X 41.5 m’ 13.0
WEER R R
FEAE S wWE+ 29.20 — 0.00 + 0.9 m® 29.2
7 A7 7L ML As 0.65 X 0.03 X 41.5 m® 0.8
HEFBERA T AN B As m® 0.8
TG URIENE - 25> T 0.023 X 0.03 X 83.0 m® 0.06
TEKET RC-40, t=10cm 0.65 X 41.5 m? 27.0
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+ T % & %

+TA47° 4-2 FOEHAIE As DCIP(GX) ¢ 200, #4 ¢ 150 DP=0.90m
+ TR L= 1.4 = 1.4 m
W P>
BEE%As t=3cm 1EHl | BR
E— —t
S N
i Eﬁﬁl A
| RC-40 8
|
N A
i A
i W | #EEIfE[  0.600
a i #arE| DL |l 0.220
= £ e IR 1ERM — s D2 B 0.169
; RC-40 < DP [ +# ] 0.900
i H1 | #EAIZE] 1.120
BB H2 | #EHIE] 1.090
iz—t V hl  |#5E44]  0.470
i 8 h | # & 0.520
~ B —
(D 5, =
y
i A
/\i Ov 4
VAR
BWEE D2 i E 6 D1
( 1.4 m H4720%E)
4 g iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 14 m 2.8
SRR ERUERGA T As, t=10emBLF 0.60 X 1.4 m? 0.8
ERIRE T Kb e+ ( 0.60 X 1.090 — 0.169 2 X x,/4)X 1.4 m® 0.9
e e R T T RC-40 0.60 X 0470 X 1.4 m® 0.4
EIHR T i as i
AR T T w ( 0.60 X 0520 — 0.220 2 X x,/4)X 1.4 m’ 0.4
WEER R R
FEAE S wWE+ 0.90 — 0.00 0.9 m® 0.9
T AT 7 )L hLALE As 0.60 X 0.03 X 1.4 m® 0.03
HEFBERA T AN B As m® 0.03
TG URIENE - 25> T 0.023 X 0.03 X 28 m®| 0.002
TEKET RC-40, t=10cm 0.60 X 1.4 m? 0.8
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+ T % & %
+T 47 5-1 PR DCIP(GX) ¢ 200, 5 ¢ 150 DP=0.90m
+ TR = 19 +15 +15 +7.8 = 12.7 m
W P>
1EHl | BR
%%
i A
i
i
i
|
i
i W | #mHIfE|  0.600
a i x| DL |E4ME| 0.220
= £ ° IR 1ERM _ e D2 [EsE| 0.169
; RC-40 < DP | +#9 | 0.900
i H1 | #EAIZE] 1.120
HLES H2 | fiEHlE| 1,120
iz—F V hl  |##5E44]  0.600
: 8 h [# & 0.520
~ B | —X
() =) =
v —x
/\: Ov 4
[\
BEE D2 FERE o DI
( 12.7 m Y7=0¥E)
4 g IR /NI N B B =V B % &
ARG T As, t=15cmPA T
SEEEREUERGA T | As, t=10cmBLF
B AR L etk RYEL T ( 060 X 1.120 — 0.169 > X x,/4)X 12.7 m® 8.2
AR T RC-40 0.60 X 0.600 X 12.7 m® 4.6
B T i
RERL R T b ( 0.60 X 0520 — 0.220 2 X x,/4)X 12.7 m® 3.5
WEIR L
F L B WE+ 820 — 0.00 = 0.9 m® 8.2
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+ T % & %

+ 1547 6-1 FOEHE As (N1-3) DCIP(GX) ¢ 2004812 DP=0.90m
+ TR L= 8.0 = 8.0 m
W P>
BXE%As t=bcm EH | BRE RIEIR BAEZFHIAs t=bcm
— %
3 N v 3
Ei%ﬂ%ﬂ%l S
L M-30 -
:TE%%J S
i RC-40 -
i W | #EEIfE[  0.600
a i D1 [#E4M%[ 0.220
= £ e IR 1ERM — DP_ | 140 | 0.900
i RC-40 < H1 [#mieE] 1.120
i H2 | #EHIE] 1.070
! hl [#REFf] 0.850
i h |[®W &
|
|
=
—
Ov
BEE 6D
( 8.0 m %7=v¥E)
4 g iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 8.0 m 16.0
SRR ERUERGA T As, t=10emBLF 0.60 X 8.0 m? 4.8
AR T etk RYEL T 0.60 X 1.070 X 8.0 m® 5.1
AR T RC-40 0.60 X 0850 X 8.0 m® 4.1
B T i as i
IR T w
WEER R R
FEAE S wWE+ 510 — 0.00 <+ 0.9 m® 5.1
T AT 7 )L hLALE As 0.60 X 0.05 X 8.0 m® 0.2
HEFBERA T AN B As m® 0.2
TG URIENE - 25> T 0.023 X 0.05 X 16.0 m® 0.02
TEKET RC-40, t=12cm 0.60 X 8.0 m? 4.8
HEgET M-30, t=10cm 0.60 X 8.0 m? 4.8
HAERIEAs(13)
FIEURIEIR) t=5cm 0.60 X 8.0 m? 4.8

_18_




+ T % & £
+ 1547 7-1 FOEAE As DCIP(GX) ¢ 2004812 DP=0.90m
+ TR L= 13.2 = 13.2 m
W P>
BEE%As t=3cm 1EHl | BR
- —t
S N
I RAET
| RC-40 S
!
i
i W | #EEIfE[  0.600
a i D1 [#E4M%[ 0.220
= £ e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#mieE] 1.120
i H2 | #EAE|  1.090
BB hl | HEEA| 0.990
b h B &
]
! S —
! =
—
Ov
BEE 6D
( 13.2 m %47=v¥E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 13.2 m 26.4
SRR ERUERGA T As, t=10emBLF 0.60 X 13.2 m? 7.9
AR T R 0.60 X 1.090 X 13.2 m® 8.6
AR T RC-40 0.60 X 0.990 X 13.2 m® 7.8
B T i as i
ERSHRE T. s
WEER R R
FAE IEI YE 8.60 — 0.00 -+ 0.9 m® 8.6
7 A7 7L ML As 0.60 X 0.03 X 13.2 m® 0.2
HEFBERA T AN B As m® 0.2
TG URIENE - 25> T 0.023 X 0.03 X 26.4 m® 0.02
INEL A RC-40, t=10cm 0.60 X 13.2 m? 7.9
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TS IH AR R

F5 fE il G SV HifE (m®) e

1 FGEHIEAsSNI-3)|  2.27 X 0.53 X 1/2 0.60 |&HEEE KLY
2 FGEHIEAsNI-3)|  20.89 X 2.14 X 1/2 22.35 |EHAEE IR XD
3 FGEHIEAsSNI-3)|  16.18 X 2.56 X 1/2 20.71 |EHEEAE IR ED
4 FGEHIEAsSNI-3)|  15.67 X 2.23 X 1/2 17.47 [EEAEIHX LY
5 FGEHIEAsNI-3)|  15.67 X 2.60 X 1/2 20.37 |EHAEAE IR LD
6 FGEHIEASNI-3)|  11.03 X 2.64 X 1/2 14.56 |EZAE ALY
7 FGEHIEASNI-3)|  9.68 X 1.94 X 1/2 9.39 |HHIEE IR LD
8 FGEHIEAsNI-3)|  7.90 X 3.02 X 1/2 11.93 &2 ALY
9 FGEHIEASNI-3)|  7.63 X 2.41 X 1/2 9.19 IR IR LY
10 |BaEEHEASNI-3)|  6.44 X 1.50 X 1/2 4.83 LA IR LD
11 |BaEEHEASNI-3)|  6.44 X 1.87 X 1/2 6.02 |FHIEE IHX LD
12 |WEHEBEASNI-3)|  11.13 X 292 X 1/2 16.25 [EZEAE HX LY
13 |BEHEBEASNI-3)|  11.13 X 291 X 1/2 16.19 [EZAE ALY
3 VB BB AS(N1-3) 169.86

21 VB AEAS 6.02 X 1.33 X 1/2 4.00 [EHEEIEIRED
22 VB AREAS 8.62 X 532 X 1/2 22.93 |EEEIE ALY
23 VB AREAS 8.62 X 1.30 X 1/2 5.60 |FHEEE KLY
24 WIEAEAS 741 X 1.36 X 1/2 5.04 |FHIEE KLY
25 VB AREAS 6.27 X 1.94 X 1/2 6.08 |HHIEE KLY
26 VLB AREAS 532 X 0.72 X 1/2 1.92 E3E1E ALY
27 VRIEAREAS 532 X 2.94 X 1/2 7.82 |FHEEE IHIX LD
28 VB AREAS 16.02 X 3.08 X 1/2 24.67 |EHEEIE ALY
29 WIEAREAS 14.52 X 2.44 X 1/2 17.71 [EEEE ALY
30 VIEAEAS 13.05 X 231 X 1/2 15.07 [EZEE ALY
31 VAIEAREAs 1143 X 221 X 1/2 12.63 [EZEE ALY
32 VB AREAS 9.69 X 2.15 X 1/2 10.42 [EZEE A IY
33 VLB AREAS 7.94 X 1.73 X 1/2 6.87 |BHAEE IHXLY
34 VB AREAS 539 X 3.76 X 1/2 10.13 [EZEE ALY
35 VLB AREAS 3.76 X 38.71 145.55 |&H%E1E ALY
i WEANEAS 296.44

Aaat 466.30
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PR T AR AR

Ei A I €75 H 75 A | KR LT A
W=15cm W=15cm W=30cm W=45cm 15cm¥atE
I IR 13.7
IR 16.4
IR 3.0
HEEEIRX 3.0
ETEE IR 3.0
HEEE IR 3.0
7 42.1
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